Chapter 5 Test Review



8 —no, CA and CB are not equal
9 — no, CA and CB are not equal
10 — no, CA and CB are not equal

>0
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1. 12. 13.

11 — no, P is not equidistant from the sides of <A
12 — no, diagram does not show both segments are perpendicular
13 — no, diagram does not show perpendicular segments
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16. In the diagram,ﬁ/ 1L RT and VR = VT. Find VT. 8

17. In the diagram,ﬁ/ L RT and VR = VT.Find SR. \ |

18. In the diagram, SV is the perpendicular bisector
of RT. Because UR = UT = 14, what can you H, 'S ON 6\/>

conclude about point U? N\ O se o
O @7V



19. In the diagram, JN bisects 2 HIK, NP L JP, 2
NQO 1 JO, and NP = 2. Find NO.

20. In the diagram, JN bisects ZHJIK,MH LJH, \+ = o ON )
MK 1 JK , and MH = MK = 6. What can o \™S\ -
you conclude about point M? L SO
o LD\
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14. The perpendicular bisectors of 15. The angle bisectors of AXYZ meet
ARST meet at point D. Find DR. at point W. Find WB. Q\D
S N
9 4.68
D
R L T
| 16 i
16. The angle bisectors of AGHJ 17. The perpendicular bisectors of AMNP
meet at point K. Find KB. meet at point Q. Find ON. @6
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P is the centroid of ADEF, EH 1 DF,
DH =9, DG =7.5,EP = 8, and DE = FE.

8. Find the length of FH. q
9. Find the length of EH. \' Q)

10. Find the length of PH.
11. Find the perimeter of ADEF. '\\ %



10) HER 2NN

|| PI(5,'[_5) L L
o| B N(11,2)
- 74 =
' / .0. 10 X
- M(-1, —2) -

17. Find the coordinates of Q, the ( 6 D}
\

midpoint of MN.
18. Find the length of the median PQ. L@
19. Find the coordinates of the

centroid. Label this point as 7. <% \/B
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24. an acute AABC 25. aright AEFG with 26. an obtuse AKLM
right angle at G «

A e 28
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12. LM || _2 D
13. AB || _2 N AN
14. If AC = 20, then LN = _? \ O
15. If MN = 7, then AB = _2__\-\
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26. L(1, 3), M(/S, 9), N4, 4) 27. L(7, 1), M(9, 6), N(5, 4)
bo/H
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15) 28. Given CD = 14, GF = 8,
and GC = 5, find the perimeter
of ABCD.

BKI/‘\E/\/D
o

29. Given PO = 20, SU = 12,
and QU = 9, find the perimeter

O
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6. A 7 R 8. K i
51 > 7
g < 50°
65 >
71° 42° °
J
C B .
shortest — AC shortest — RT shortest — JK

longest — AB longest — ST or SR longest — JH



9. A
18
GN

B 15

smallest -- <C
biggest -- <B

C

10. P

10 6

smallest -- <R
biggest -- <Q

smallest -- <H
biggest -- <F
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14.

80°

60° 40°

AB, BC, AC

DF, DE, EF

120°

HJ, GJ, GH



19) 17. L 10 18. P 19. T

14 g 6

<L, <K, <M <N, <Q, <P <T, <§, <R



20) AB + AC >BC

24. A 25. B 3Ix—1 C
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9. msL1 2 ms?2
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10. XY ? ZY
> Z
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18. X
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21. If RS + ST # 12 in. and ST = 5 in., then RS # 7 1n.

22. In AMNP, if Q is the midpoint of NP, then M—Q 1S a median.
23. In AABC.,ifm/ZA + m/Z B = 90° then mz C = 90°.

21 — Assume RS =7 in.
22 — Assume MQ is not a median.
23 — Assume m<C is not = 90* (either m<C > 90* or m<C < 90%*).



24) 28. Your flight: 100 miles due west, then 50 miles N 20° W
Friend’s flight: 100 miles due north, then 50 miles N 30° E
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